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[ERADHET] XHEDBZSIK, EREBYFET,
R&-ICH—FRISEERETT, T, SRE/RARIVMII EShEHA,
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=8 18 CREBMMADEE

¥isER Z 010 H4EER- — — — — — — — — —
HEEETER FE 020 EXETER JR — — — — — — — —
JRANFEER E/[& 055 2,000 #MHER — — — — — — — —_
e SR & 1:.02 2,000 320 JR — — — — — — —
JR:ZH;ZER /% 1:10 2,200 480  EMFEER — — — — — — —
BRI & 1:13 2,200 520 330 — — — — — — —
RAGRTFEE & 1:16 2,300 620 370 — — — — — — —
EEHFHESEE 2 1:18 22300 680 470 — — — — — — —
=I1WEE [% 1:20 2,300 740 480 — — — — — — —
RESH-TH [& 1:22 2400 830 560 — — — — — — —
INTFREER(FEO) 5/[& 1:35 2,500 1,000 900 /N\FRER — — — — — —
BEESER E/[& 1:45 2,600 1,300 1,100 600 MBHESR — — — — —
SEERAO [& 1:48 2,600 1,400 1,200 730 280 — — — — —
A—hYHMNEER & 1:50 2,600 1,500 1,300 820 390 — — — — —
R FHER 5 /[% 2:00 2,600 1,500 1,500 1,000 680 =E 3 — — — —
HIE & 2:02 2,600 1,500 1,500 1,000 730 170 — — — —
WXt 22— [& 2:03 2,600 1,500 1,500 1,000 760 240 — — — —
tHFLAE & 2:04 2,600 1,500 1,500 1,000 790 280 — — — —
EIH R [% 2:05 2,600 1,500 1,500 1,000 820 330 JR — — —
JRIZEER 5/[Z 2210 2,600 1,500 1,500 1,000 1,000 650 EAR — — —
H#E3TH & 2:14 2,600 1,500 1,500 1,000 1,000 790 370 JR — —
JRiALQ HER =/[% 2:20 2,800 1,500 1,500 1,000 1,000 900 680 EARHR « _ —
BAFHERAO & 2:22 2800 1,500 1,500 1,000 1,000 900 660 170 — —
NEDFER 5/[& 2:30 3,000 1,500 1,500 1,000 1,000 900 800 530 4MEOHER 2 —
LB & 2:32 3,300 1,500 1,500 1,000 1,000 900 800 640 220 —

R H A PR & 2:33 3,300 1,500 1,500 1,000 1,000 900 800 670 300 —
BEA=—1—49 KRR )LE & 2:35 3,300 1,500 1,500 1,000 1,000 900 800 750 380 —
—a—Aa ) R & 2:37 3,300 1,500 1,500 1,000 1,000 900 800 790 420 —

BBE & 2:38 3,300 1,500 1,500 1,000 1,000 900 800 800 440  JRELHEER
JRALEHERFEA ZE/[& 2:45 3,300 1,500 1,500 1,000 1,000 900 800 800 530 i =)

AEZEEREIREA—IFI  E 310 3,300 1,500 1,500 1,000 1,000 900 800 800 700 700
RREAZEEE2REFI—ITIL [% 3:15 3,300 1,500 1,500 1,000 1,000 900 800 800 700 700



